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NEW QUESTION 1

Which two pieces of information are necessary to compute SNR? (Choose two.)

A. EIRP

B.

noise floor

C. antenna gain
D. RSSI

E.

transmit power

Answer: BD

NEW QUESTION 2
A network administrator is implementing a routing configuration change and enables routing debugs to track routing behavior during the change. The logging
output on the terminal is interrupting the command typing process. Which two actions can the network administrator take to minimize the possibility of typing

commands incorrectly? (Choose two.)

A. Configure the logging synchronous global configuration command

B. Configure the logging delimiter feature

C. Configure the logging synchronous command under the vty

D. Press the TAB key to reprint the command in a new line

E. increase the number of lines on the screen using the terminal length command

Answer: CD

NEW QUESTION 3
Refer to the exhibit.

Which privilege level is assigned to VTY users?

R1& sh ron | bagin ine con
hna Con o
excc-timeout O O
privilege level 15
Iowgegingg synechonos
stopbits 1
line aux o
axac-timeaut O 0
privilege lewvel 15
logging synchronous
slopbils 1
line vty 0 4
password 7 04580215022E
Togin
hna vy o 12
password 7 045802150C2E

Toggin
I

cnd

R1# sh run | include aaa | enable

no aaa new-model
R1#

00w

[ N e
w

(&)

Answer: D

NEW QUESTION 4

What is the structure of a JISON web token?

A. three parts separated by dots: header payload, and signature
B.
C. three parts separated by dots: version header and signature
D.

header and payload

payload and signature

Answer: A

NEW QUESTION 5
A network is being migrated from IPV4 to IPV6 using a dual-stack approach. Network management is already 100% IPV6 enabled. In a dual-stack network with

two dual-stack NetFlow collections, how many flow exporters are needed per network device in the flexible NetFlow configuration?
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Answer: B

NEW QUESTION 6
Refer to the exhibit.

Extended IP access list EGRESS
10 permit ip 10.0.0.0 0.0.0 255 any
|

<Cmtput Omitted=

1

intarmace GigablkEtharnsatl o

ip address 209 165 200 225 255 255 255.0
ip acocess-group EGRESS out
cluples snalo

speed auto

media-type n4s

I

An engineer must block all traffic from a router to its directly connected subnet 209.165.200.0/24. The engineer applies access control list EGRESS in the
outbound direction on the GigabitEthernet0/0 interface of the router However, the router can still ping hosts on the 209.165.200.0/24 subnet. Which

A. Mastered
B. Not Mastered

Answer: A

Explanation:
of this behavior is true?

A. Access control lists that are applied outbound to a router interface do not affect traffic that is sourced from the router.

B. Only standard access control lists can block traffic from a source IP address.

C. After an access control list is applied to an interface, that interface must be shut and no shut for the access control list to take effect.

D. The access control list must contain an explicit deny to block traffic from the router.
Answer: A

NEW QUESTION 7
Refer to the exhibit.

@Giwn Gio/ @

e O gy, Gi0/1
R1 R2

VPN_A VPN_B

Gio/

Assuming that R is a CE router, which VRF is assigned to Gi0/0 on R1?

A. VRF VPN_B
B. Default VRF
C. Management VRF
D. VRF VPN_A

Answer: D
NEW QUESTION 8
Which statement about agent-based versus agentless configuration management tools is true?

A. Agentless tools require no messaging systems between master and slaves.
B. Agentless tools use proxy nodes to interface with slave nodes.

C. Agent-based tools do not require a high-level language interpreter such as Python or Ruby on slave nodes.

D. Agent-based tools do not require installation of additional software packages on the slave nodes.
Answer: D

NEW QUESTION 9

Which protocol does REST API rely on to secure the communication channel?

A. TCP

B. HTTPS

C. SSH

D. HTTP

Answer: B

NEW QUESTION 10
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Which statement about multicast RPs is true?

A. RPs are required only when using protocol independent multicast dense mode.

B. RPs are required for protocol independent multicast sparse mode and dense mode.

C. By default, the RP is needed periodically to maintain sessions with sources and receivers
D. By default, the RP is needed only to start new sessions with sources and receivers.

Answer: D

NEW QUESTION 10
Which two mechanisms are available to secure NTP? (Choose two.)

A. IP prefix list-based

B. IPsec

C. TACACS-based authentication
D. IP access list-based

E. Encrypted authentication

Answer: DE

NEW QUESTION 11
Which statement explains why Type 1 hypervisor is considered more efficient than Type 2 hypervisor?

A. Type 1 hypervisor runs directly on the physical hardware of the host machine without relying on the underlying OS.

B. Type 1 hypervisor enables other operating systems to run on it.

C. Type 1 hypervisor relics on the existing OS of the host machine to access CPU, memory, storage, andnetwork resources.
D. Type 1 hypervisor is the only type of hypervisor that supports hardware acceleration techniques.

Answer: A

NEW QUESTION 14
Which statement about a fabric access point is true?

A. Itis in local mode an must be connected directly to the fabric border node.

B. Itis in FlexConnect mode and must be connected directly to the fabric border node.
C. Itis in local mode an must connected directly to the fabric edge switch.

D. Itis in FlexConnect mode and must be connected directly to the fabric edge switch.

Answer: C

NEW QUESTION 16
Drag and drop the characteristics from the left onto the correct infrastructure deployment types on the right.

S — o
LHT P EliSes

‘ LS L OTILE Sl e ar Qwware, DUrpos-e-Dunl Syslers

‘ aas T ErSlE S 2Ma
TEE ¥ LI T E >

ramuwes 3 =rrong ang srables imrarnet connasmon

A. Mastered
B. Not Mastered

Answer: A

Explanation:

On premise: customizable,specific requirements,resources Cloud: scale, built-in automated backup, strong stable internet
NEW QUESTION 21

Which OSPF networks types are compatible and allow communication through the two peering devices?

A. broadcast to nonbroadcast

B. point-to-multipoint to nonbroadcast

C. broadcast to point-to-point
D. point-to-multipoint to broadcast
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Answer: B

NEW QUESTION 22
Which method creates an EEM applet policy that is registered with EEM and runs on demand or manually?

A. event manager applet ondemand event registeraction 1.0 syslog priority critical msg 'This is a message from ondemand'
B. event manager applet ondemand event manualaction 1.0 syslog priority critical msg 'This is a message from ondemand'
C. event manager applet ondemand event noneaction 1.0 syslog priority critical msg 'This is a message from ondemand’
D. event manager applet ondemandaction 1.0 syslog priority critical msg 'This is a message from ondemand'

Answer: C

NEW QUESTION 25

Which access controls list allows only TCP traffic with a destination port range of 22-433, excluding port 807
A. Deny tcp any any eq 80 Permit tcp any any gt 21 it 444

B. Permit tcp any any ne 80

C. Permit tcp any any range 22 443 Deny tcp any any eq 80

D. Deny tcp any any ne 80Permit tcp any any range 22 443

Answer: A

NEW QUESTION 26
Refer to exhibit.

=7 = =
SW1 SW2 SW3

VLANSs 50 and 60 exist on the trunk links between all switches All access ports on SW3 are configured for VLAN 50 and SW1 is the VTP server Which command

ensures that SW3 receives frames only from VLAN 50?

A. SW1 (config)#vtp pruning

B. SW3(config)#vtp mode transparent
C. SW2(config)=vtp pruning

D. SW1 (config >»vtp mode transparent

Answer: A

NEW QUESTION 29

What the role of a fusion in an SD-Access solution?

A. provides connectivity to external networks

B. acts as a DNS server

C. performs route leaking between user-defined virtual networks and shared services
D. provides additional forwarding capacity to the fabric

Answer: C

NEW QUESTION 31
Which exhibit displays a valid JSON file?

" Frame™: oo r L1 "
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 33

Which DNS lookup does an access point perform when attempting CAPWAP discovery?

A. CISCO-DNA-CONTROLLER local

B. CAPWAP-CONTROLLER local

C. CISCO-CONTROLLER local

D. CISCO-CAPWAP-CONTROLLER local

Answer: D

NEW QUESTION 38
Which statements are used for error handling in Python?

A. try/catch

B. try/except

C. block/rescue
D. catch/release

Answer: B
NEW QUESTION 41
Which statement about an RSPAN session configuration is true?

A. A fitter mutt be configured for RSPAN Regions
B. Only one session can be configured at a time

C. A special VLAN type must be used as the RSPAN destination.

D. Only incoming traffic can be monitored

Answer: C

NEW QUESTION 45
Refer to the exhibit.

G0/0 Linkl GOS0
GOy1 Limk2 G0S1
EWZ2#show sSpanning-tres
VELANQOODOL
Spanning tree enabled proctooocl i1ees
Rzot ID FEiQZiTY IZTED
Addrass = 05 0
Co=tT £
P 1 GigabicE
Hello Time 2 mec fax Age 20 aec Forward Dela 15 asc
Bradge ID EiDrity B2TED riority AIZTER =y d-=xt 1}
Addres =¥l Lafa] =
Hells Time 2 aas Max Rge 20 sec Forward Delay 15 sec
Agang Time = sec
Incerface Role St= Cost Brip bx Type=
33 Hoot FEFWbD 00 AZ23.1 Erip
- =TT BRILE = "} P2

Link1 is a copper connection and Link2 is a fiber connection. The fiber port must be the primary port for all forwarding. The output of the show spanning-tree
command on SW2 shows that the fiber port is blocked by spanning tree. An engineer enters the spanning- tree port-priority 32 command on GO/1 on SW2, but the

port remains blocked. Which command should be entered on the ports that are connected to Link2 to resolve the issue?

A. Enter spanning-tree port-priority 32 on SW1.
B. Enter spanning-tree port-priority 224 on SW1.
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C. Enter spanning-tree port-priority 4 on SW2.
D. Enter spanning-tree port-priority 64 on SW2.

Answer: A

NEW QUESTION 47

Which LISP infrastructure device provides connectivity between non-sites and LISP sites by receiving non-LISP traffic with a LISP site destination?

A. PETR

B. PITR

C. map resolver
D. map server

Answer: B

NEW QUESTION 52

Which First Hop Redundancy Protocol maximizes uplink utilization and minimizes the amount of configuration that is necessary?

A. GLBP
B. HSRP v2
C. VRRP
D. HSRP vl

Answer: A

NEW QUESTION 57

What do Cisco DNA southbound APIs provide?

A. Interface between the controller and the network devices
B. NETCONF API interface for orchestration communication
C. RESful API interface for orchestrator communication

D. Interface between the controller and the consumer
Answer: A

NEW QUESTION 59
Refer to the exhibit.

Clhicnt Ivoportios

Apply

Lk Tasl

Mot “rreHermeet ed

ImipheE ned

E srrefeammartad

Rarriawha

The WLC administrator sees that the controller to which a roaming client associates has Mobility Role Anchor configured under Clients > Detail. Which type of

roaming is supported?

A. Indirect

B. Layer 3 intercontroller
C. Layer 2 intercontroller
D. Intracontroller

Answer: B

NEW QUESTION 62
Refer to this output. What is the logging severity level?

Ri1#Feb 14 37:15:12:429: %LINEPROTO-5-UPDOWN Line protocol on interface GigabitEthernet0/1. Change state to up

A. Naotification
B. Alert

C. Critical

D. Emergency

Answer: A
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NEW QUESTION 65
Which technology provides a secure communication channel for all traffic at Layer 2 of the OSI model?

A. MACsec

B. IPsec

C.SSL

D. Cisco Trustsec

Answer: A

NEW QUESTION 70
Which action is the vSmart controller responsible for in an SD-WAN deployment?

A. onboard vEdge nodes into the SD-WAN fabric

B. distribute security information for tunnel establishment between vEdge routers

C. manage, maintain, and gather configuration and status for nodes within the SD-WAN fabric
D. gather telemetry data from vEdge routers

Answer: B

NEW QUESTION 74
Which feature must be configured to allow packet capture over Layer 3 infrastructure'?

A. VSPAN
B. IPSPAN
C. RSPAN
D. ERSPAN

Answer: D

NEW QUESTION 77
Which QoS component alters a packet to change the way that traffic is treated in the network?

A. Marking
B. Classification
C. Shaping
D. Policing

Answer: A

NEW QUESTION 81
How does Cisco Trustsec enable more flexible access controls for dynamic networking environments and data centers?

A. uses flexible NetFlow

B. assigns a VLAN to the endpoint

C. classifies traffic based an the contextual identity of the endpoint rather than its IP address
D. classifies traffic based on advanced application recognition

Answer: C

NEW QUESTION 86

Which description of an SD-Access wireless network infrastructure deployment is true?
A. The access point is part of the fabric underlay.

B. The WLC is part of the fabric underaly.

C. The access point is part the fabirc overlay.

D. The wireless client is part of the fabirc overlay.

Answer: C

NEW QUESTION 91
Refer to the exhibit.

AS1 ' AS2

- - >
R1 \

A
M

q —h
o~ , o
5‘3 LoD s Fal/O 192.168.10.0/24 | Fa0/ eaﬁ Lo E
= D

Which configuration establishes EBGP neighborship between these two directly connected neighbors and exchanges the loopback network of the two routers

through BGP?
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A)

R1(config)Frouter bgp 1
R1(config router)neighbor 192.168.10.2 remote-as 2
R1(config router)™network 10.1.1.0 mask 255.255.255.0

R2Z(config)frouter bgp 2
R2Z(config router)neighbor 192.168.10.1 remote-as 1
RZ2(confhig-router)Znetwork 10.2.2.0 mask 255.255.255.0

B)

R1({conhg ¥ router bgp 1
R1{config-router j#neighbor 10.2.2.2 remote-as 2
R1(config-router )#network 10.1.1.0 mask 2566.266.266.0

R2(config)#router bgp 2
R2(config router)neighbor 10.1.1.1 remote-as 1
R2(config router)etwork 10.2.2.0 mask 255.255.255.0

C)

R1(conhg)=router bgp 1
R1(conhg-router ) Zneighbor 192.168.10.2 remote-as 2
R1(conhg-router ) =network 10.0.0.0 mask 255.0.0.0

RZ(conhg)¥router bgp 2
RZ(config-routcr J¥neighbor 192.168.10.1 remote-as 1
R2Z(config-router J#network 10.0.0.0 mask 266.0.0.0

D)

R1(config)¥router bgp 1

R1(config router)neighbor 10.2.2.2 remote-as 2
R1(config-router ) Tneighbor 10.2.2.2 update-source o0
R1(configrouter dnetwork 10.1.1.0 mask 255.255.255.0

RZ(conhig =router bgp 2

RZ(conhg-router J=neighbor 10.1.1.1 remote-as 1
RZ2(conhg-router J=neighbor 10.1.1.1 update-source lo0
RZ2(conhg-router ) =network 10.2.2.0 mask 2566.266.265.0

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 96
Which JSON syntax is valid?

(‘switch™ "'name” “dist1” “interfaces™ (g1’ "'9i9?" "gg3’])
swalch' (‘name’ dist1 nterfaces |[gg1’. g2, ggd’ )
Cswitch™. {"'name”. “dist?”, “interfaces™. ["gg1’, ‘g9, 993’1}

(Fewatch/™ [Fname/ “dist1” Finterfaces” ['gig1™ “gig2”. “gig3))

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B
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NEW QUESTION 97
Which two protocols are used with YANG data models? (Choose two.)

A. HTTPS

B. SSH

C. RESTCONF
D. TLS

E. NFTCONF

Answer: CE

NEW QUESTION 98
Refer to the exhibit.

Fxlended 1P Aacoess sl FGRESS
10 permit ip 10.1.100.0 0.0.0.25510.1.2.0 0.0.0.255
20 deny ip any any

An engineer must modify the access control list EGRESS to allow all IP traffic from subnet 10.1.10.0/24 to 10.1.2.0/24. The access control list is applied in the
outbound direction on router interface GigabitEthemet 0/1. Which configuration commands can the engineer use to allow this traffic without disrupting existing

traffic flows?

A)
config t
ip access-list extended EGRESS
permitip 10.1.10.0 255.255.255.0 10.1.2.0 255.255.255.0
B)
config t
ip access-list extended EGRESS
S permitip 10.1.10.0 0.0.0.2556 10.1.2.0 0.0.0.2566
C)
configt
ip access-list extended EGRESS2
permit ip 10.1.10.0 0.0.0.255 10.1.2.0 0.0.0.255
permit ip 10.1.100.0 0.0.0.255 10.1.2.0 0.0.0.255
deny ip any any
interface g0/1
no ip access-group EGRESS out
ip access-group EGRESS2 out
D)
config t
ip access-list extended EGRESS
permitip 10.1.10.0 0.0.0.255 10.1.2.0 0.0.0.255
A. Option A
B. Option B
C. Option C
D. Option D
Answer: B

NEW QUESTION 101
Drag and drop the characteristics from the left onto the correct routing protocol types on the right.
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OSPF
suproits unegual path lead balanding
link State routing profoco
GisTance wedtor routmg protocol
medrc = based on delay and rehabidty by defawlt EiGRP
makes T easy Lo segment the nelwork loQicalilv
constructs three tables as part of o= ocperatvon: neghbor table
Leppeiloery Labi=, and foulisg Lablvle
A. Mastered
B. Not Mastered
Answer: A
Explanation:
OSPF: SEGMENT, LINK STATE, TABLES
EIGRP: UNEQUAL PATH, DISTANCE VECTOR, METRIC
NEW QUESTION 102
Refer to the exhibit.
SwitchCé#ahow vip atatus
VIP Version : 2
Configuration Revision 0
Maximmss VIANs supporzed locally : 255
Humker of sxiscing VLAMa a
VIP Operating Mcode : Transparant
VIP Domain NHame : Sisco.com
TIP Pruning Mode Disabled
VIF Vi Mode Disabled
VIiP Traps Generation Dizabled
MD5 digest > OxES Ox2E Ox5D Ox3E Ox2F OxES OxAD Ox28
Configuration last modified by 0.0.0.0 at 1-10-15 05:-01:38
SwitchC#show vlian brief
l‘."'_:r_‘u' Hamea Ecacus Farecs
i defaulc active FaQDs3, Falbs/4, FaOss5, Fad/e
Tal/7, Fal/s/g8, Fal/3, Fal/l0
FaOs1i, Fagrsi2, Eabdysi3, Fal/i4
| Fa0O/15, Fa0/16, Fa0/17, Fa0/18
Fadrs1S, Fad/20, Fa0/21, Falrs2az2
Fadsr23, Faljs24, Pol
110 Finance ACTLY
210 BHR active Fad/1
1210 Salers active raC/fa
[...output cmitted...]
SwitchCl#ahow int trunk
Portc Mode Encap=zulation Status MNative vlan
5:91/1 on gd02.1lg crunking i
Cigl/sa on €03.1q trunking i
Fort Vians allowed on trunk
Gigl/l 1-1005
IS-.g: i 1-1008
Part Vians allowed and active in managemant damsan
Gigl/s1 3,110,210,310
Gigl/z 1,1160,.210,310
l?:rt Vians in gpanning tree Iforwarding state and not pruned
Gigl/l 2,110,.210,31
Cigl/2 i,110,210,31
SwitchClahow run interlace port-channel 1

interface Port-channel 1
desacription Uplink to Core
awitchport mode trunk

SwitchC connects HR and Sales to the Core switch However, business needs require that no traffic from the Finance VLAN traverse this switch Which command

meets this requirement?
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A)

SwilchCl(conhg )= vtp pruning

B)

SwitchC(conhg )#vtp pruning vian 110

C)

SwitchC(conhig #interface port-channel 1
SwilchC(conhg-il#switchport trunk allowed vian add 210,310

D)

SwitchC(config)#interface port-channel 1
SwitchC(config-ifj#switchport trunk allowed vian remove 110

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 106
Refer to the exhibit.

1
Fast Transition

Fast Transition

Protected Management Frame

WPA+WFAZ Parameters
11.1-'p;‘ Pﬂl-w
1|-|Irp;*2 F'O-'I-Cv--'*ES il

Authentication Key Management

802.1X Enable
CCKM Enable
PSK ¥ Enable
FT 802.1X Enable
FT PSK Enable
PSK Format ASCIT ¥

General  Security = QoS i Policy-Mapping

Layer 2 | Layer 3 = AAA Servers

PMF Dwsableg ¥

L A L B RN LT EER TR ]

Advanced

Based on the configuration in this WLAN security setting, Which method can a client use to authenticate to the network?

A. text string

B. username and password
C. certificate

D. RADIUS token

Answer: A

NEW QUESTION 111

Which two descriptions of FlexConnect mode for Cisco APs are true? (Choose two.)

A. APs that operate in FlexConnect mode cannot detect rogue Aps.

B. FlexConnect mode is used when the APs are set up in a mesh environment and used to bridge between each other.

C. FlexConnect mode is a feature that is designed to allow specified CAPWAP-enabled APs to exclude themselves from managing data traffic between clients and

infrastructure.

D. When connected to the controller, FlexConnect APs can tunnel traffic back to the controller.
E. FlexConnect mode is a wireless solution for branch office and remote office deployments.
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Answer: CD

NEW QUESTION 114
Which NGFW mode block flows crossing the firewall?

A. Passive
B. Tap

C. Inline tap
D. Inline

Answer: C

NEW QUESTION 118
Which controller is the single plane of management for Cisco SD-WAN?

A. vBond

B. vEdge

C. vSmart
D. vManage

Answer: D

NEW QUESTION 121
What is the difference between a RIB and a FIB?

A. The RIB is used to make IP source prefix-based switching decisions
B. The FIB is where all IP routing information is stored

C. The RIB maintains a mirror image of the FIB

D. The FIB is populated based on RIB content

Answer: D

NEW QUESTION 124
Which LISP device is responsible for publishing EID-to-RLOC mappings for a site?

A.ETR
B. MS
C.ITR
D. MR

Answer: A

NEW QUESTION 127
Which feature does Cisco TrustSec use to provide scalable, secure communication throughout a network?

A. security group tag ACL assigned to each port on a switch

B. security group tag number assigned to each port on a network
C. security group tag number assigned to each user on a switch
D. security group tag ACL assigned to each router on a network

Answer: B

NEW QUESTION 131
What are two common sources of interference for WI-FI networks? (Choose two.)

A. radar

B. LED lights

C. rogue AP

D. conventional oven
E. fire alarm

Answer: AC

NEW QUESTION 132
A client with IP address 209 16b 201 2b must access a web server on port 80 at 209 16b.200.22b. To allow this traffic. an engineer must add a statement to an
access control list that is applied in the inbound direction on the port connecting to the web server Which statement allows this traffic?

A. permit tcp host 209 165 200 225 eq 80 host 209.165.201.25
B. permit tcp host 209 165.201 25 host 209.165.200.225 eq 80
C. permit tcp host 209.165.200 225 It 80 host 209.165.201.25

D. permit tcp host 209.165.200.225 host 209.165.201.25 eq 80

Answer: B
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NEW QUESTION 136
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